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(b) Calculate variance and coefficient of i () Fit a trend equation Y =a+bX and
variation from the followmg data : 4+6=10 | obtain the trend values irom the
s - following data : 10+3=13
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6. (a) Define index number and briefly discuss
its uses. ' o

(b) The pnces per unit and the number of
units consumed for four commedmes

UNIT—II
i A, B, C and D in two time penods are
3. Calculate Karl Pearson’s coefficient of given below : -
correlation between expenditure and sale S T e
| _ Y'Jear T ! Curmnt Year

from the data gwen below : ' 19

'Expendzmre ('000 ?’) .

::ﬁ (in kg)
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4. The values of X and Y are given below : 15
; | 20
y : 80 8 89 76 73 70 55 50 90 98 a e Compute Laspeyres’, Paasche’s and
0 o . Vi | | Misher’s 1 9 | +44+D=
Find the two lines of simple regression. 15 Fisher's'index numbers ARramu
_ S UNIT==HI o A L 3 d UNIT—IV
5. (a) Define time series and mention its 7. (a) State the addition and multiplication
components. | 2 rules of probability. | 4
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